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Pathology Lecture 14

1) vegetation occurs in : 
A. ASD 
B. valve 
C. VSD
                                                                                                              Answer : B            

2) A patient presented to the ER with a venomous snake bite. Tests
revealed he had multiple infarction and organ failure. Patient had
cyanosis. Which one of the following organs won't be of a
manifestation of the bite: 
A. Liver 
B. Kidney 
C. Spleen 
D. Eyes
                                                                                                               Answer: A

3) patient had bypass surgery,during it he was suffering from chest
pain,dyspnea, headache, and confusion ,what do you think the
responsible of all of that ? 
A. Fat embolism 
B. Amniotic fluid embolism 
C. Pulmonary thromboembolism 
D. Air embolism
                                                                                                               Answer: D

4) Fracture of long bone... ? 
A. Fat embolism
B. Amniotic fluid embolism 
C. Pulmonary thromboembolism 
D. Air embolism

                                                                                                               Answer: A
                                                                                                                        


